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1. (a) Whatis Business Risk ? Discuss various methods of handling risk. 14
OR
(1) Explain the concept of ‘Cost of risk’.
(2) Define Risk Management and state its objectives.
(b) Select appropriate answer from alternatives given : (Any four) 4
(1) Financial Risk of business associated with the financial
(a) Structure (b) Decision
(c) Policy (d) Planning
(2) Market Risk is associated with the change in
(a) Investor’s attitude (b) Advertisement
(c) Production (d) Publicity
3) is not a cause of Business risk.
(a) Standard of living  (b) Natural Calamities
(c)  Change in fashion (d) Competition
(4) Uncertainties of Business does not include
(a) Production Process
(b)  Govt. Policies
(c) Invention of New Substitute
(d) Technology
(5) _ 1isthe component of cost of Risk.
(a) Expected losses (b) Packing cost
(c) Production cost (d) None of these
(6) Insurance is an ideal risk financing tool for severity and
frequency.
(a) High, Low (b) High, High
(c) Low, Low (d) Low, High
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2. (a) Distinguish between the internal risk exposures and external risk exposures.

(b)
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OR
Write short note on ‘Value of Risk’. (VaR)

Write short note on ‘Risk Control’.

Select appropriate answer from alternatives given : (Any four)

(1

)

3)

(4)

©)

(6)

covers risk from both present and future activities.
(a) Reactive Avoidance
(b) Proactive Avoidance
(c) Both (a) and (b)
(d) None of these

methods are used to reduce the severity of financial impact.

(a) Loss Prevention (b) Loss Minimization
(c) Both (a) and (b) (d) None of these

is the human oriented external risk exposure.
(a) Earthquake (b) Terrorism
(c) Flood (d) Natural calamity

is the simplest form of listing the risk exposures and operative

causes.
(a) Threat analysis (b) Check-list

(c) Event Analysis (d) Flow-chart

Compulsory Helmet for two-wheeler driver is a loss measures.
(a) Prevention (b) Prevention and Minimization
(c) Minimization (d) None of these
The majority of risks lies ~ the organization.
(@) near (b) within
(c) outside (d) None of these
6
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3. (a) Explain the meaning and techniques of Risk financing.
OR

(1) Discuss on ‘Insurance as a risk transfer tool .

(2) Explain the external factors affecting risk financing.
(b) Select appropriate answer from alternatives given : (Any three)
(1) Financial risk includes

(a) Technological Risk (b) Natural Risk

(c) Interest Risk (d) All of these
(2) is a benefit of Insurance.
(a) Loss Prevention (b) Reduction of worry

(c) Both (a) and (b) (d) None of these

(3) The Insurance business is regulated by in India.
(a) [IFCI (b) IDBI
(c) IRDA (d)  SEBI
(4) _ takes place in case of low severity low frequency risks.
(a) Hedging (b) Insurance
(c) Retention (d) None of these

(5) Risk of inflation is transferred to the third party is called
(a) Insurance (b) Retention

(c) Hedging (d) None of these

4. (a) Define risk retention and explain the benefits of risk retention.
OR
(1)  Write note on ‘Enterprise risk management’.

(2)  Write short note on ‘Aggregated risk management’.
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(b) Select appropriate answer from alternatives given : (Any three)
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3)

(4)

©)

Risk retention is also known as
(a) Risk reduction (b) Risk transfer
(c) Risk creation (d) Self-Insurance

The risk management activities are conducted by

(a) Corporate team (b) Finance Manager
(c) Departmental Manager (d) Risk Manager
Aggregated risk management is essential in sector.

(a) Service (b) Industry

(c) Agriculture (d) All of these

The treatment of financial risk requires the importance of
(a) Hedging techniques (b) Future Contracts
(c) Financial derivatives (d) All of these
is the limitation of Risk Retention.
(a) Possibility of higher expense (b) Higher taxes

(c) Higher losses (d) All of these



